
A
B

16

11

9

11
9

20 4

7

10

12

5
16

3

16

1513 2

1

DETAIL A
SCALE 1 : 3

199818176

DETAIL B
SCALE 1 : 2

21514

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-78-025-A Nordia Group complete 
wooden assembly 3-seater 1

2 H-78-074-A Nordia Group Kit 1 ba307804 3

3 H-78-063-A Nordia sofa low backrest 
(1121), foam and steel insert ba207801 3

4 H-78-029-SK Nordia HBC and group seat 
foam ba207802 3

5 Dowel Ø12 Dowel 12x50mm bat12x50 4

6 Dowel Ø10 Dowel 10x40mm bat10x40 4

7 Plastic spacer Ø22x8 
mm

Otto Olsen  B2286.5SLD Skive 
Ø22x8 ba766900 6

8 Washer Pleksor 5064181600. M6x18x1,6, 
Zn, DIN9021 ba950903 2

9 Star Washer Pleksor 5067980006, M6, 
DIN6798, Zn ba950904 6

10 Star Washer Pleksor 5067980008, M8, 
DIN6798, Zn ba950905 6

11 Cylinder Head Bolt M6 Pleksor 1013111462, M6x80mm 
,Zn ba950314 4

12 Cylinder Head Bolt M6 Pleksor 1013111241, M6x60mm 
,yZn ba950305 6

13 Flat head Screw Ø4,5 Pleksor 0112113311, 4.5x20mm, 
Zn ba950124 12

14 Flat head Screw Ø4,5 Pleksor 0220045160, ABC-Spax 
4.5x16mm, Zn ba950148 6

15 Hexagon Socket 
Countersunk Screw M6

Pleksor 1013131050, M6x16mm, 
DIN7991, Zn ba950615 27

16 Cross Dowel M6 Pleksor 2014210311, 
6x10x14mm, Displaced Hole ba950402 6

17 Threaded Bolt M6 Pleksor 1513310806, M6x90mm, 
Zn ba951112 2

18 KB30V nylon Assembly fitting, plastic, KB30V ba760071 2

19 Hexagon Nut M6 Pleksor 2193400601, M6, 
DIN934,Zn ba950410 2

20 Glide Pleksor 5272201004*, Ø22, 
White Plastic ba760077 4

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-78-023-A 3-Seater

Danel

1:10 mmDanel Jaanson A3

+/-0,3 mm

2022-02-07

2022-02-10

Nordia 3-seater, HB7803

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

2022-02-10

Dimitri Leine



1

F
G

2 3

1

DETAIL F
SCALE 1 : 3

5 6

DETAIL G
SCALE 1 : 3

2

4

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-78-081-SK Nordia sofa high backrest (1212) ba207804 3

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-78-102-A Nordia group center armrest 
wood assembly BU15780501 2

  H-78-100-T Nordia Sofa Middle Armrest 
Support BU12783101 1

  H-78-101-T Nordia Sofa Middle Armrest BU12783001 1

2 Pan Head Screw 
Ø4,5

Pleksor 0212122551, 4.5x20mm, 
Zn ba950207 16

3 H-78-103-S Nordia group mounting bracket 
armrest, Ral9006 ba307807 2

4 Connecting Plate, 
60x25mm

Pleksor 4951602420 Connecting 
Plate 60x25mm Zn ba307806 2

5 Pan Head Screw 
Ø4,5

Pleksor 0212122851, 4.5x50mm, 
Partial Thread, Zn ba950211 4

6 Star Washer Pleksor 5067980006, M6, 
DIN6798, Zn ba950904 4

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-78-023-A

Danel

1:12 mmDanel Jaanson A3

+/-0,3 mm

2022-02-07

2022-02-10

Additional configurations

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

2022-02-10

Dimitri Leine


	2-Seater BOM
	Drawing View1
	Drawing View2
	Detail View A (1 : 3)
	Detail View B (1 : 2)

	Additional configurations
	Drawing View5
	Drawing View9
	Detail View F (1 : 3)
	Detail View G (1 : 3)


